(b) For two lives (x) and (y) the joint pdf of
their future life times, T(x) and T(y) is

0:0006(ts 0 <s < 10,0<t <10
fre) Tiy) B =

0 elsewhere.

13. (a) Define Lexis diagram. What are the uses of
Lexis diagram. Also, state the important

features of Lexis diagram.
(OR)

(b) Distinguish between stationary population

and stable population.
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Answer any FIVE questions.

All questions carry equal marks.
1. What is meant by contract premium ?

2. Discuss the equivalence principle used in

premium calculations.

3. Write a note on fully continuous benefit

rescrves.

4. What is retrospective formula in benefit
reserves ?

Turn over
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